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localhost:8000/src/slidingwindow3.elm

BN EN
16 | 17 |

'6/6 (100%)

2]

Effc: 1/5 (28%)

May4 21:29 e

Channel: Q
= 0 Y

&)

)

0]

)

L&) ¥ 16| ) :
Txfr: 1/1 {180%}, Effc:
Thpt: ©8.33/1.67 (3), Latn: 1.80 (1)
L0 +uyns

Next_ Next 20 _Next 1@@_

Controller (24)
Some packets not yet recieved.

“Txfr: 2/6 (33%), Effc:
Thpt: ©.09/8.27 (22), Latn: 6.0 (12)

8]
%]
8]
2]
8]

]

Channel: -> 0 (6)
1o [3[a]5]6]7]

-> P (5)

2/6 (33%)

0]
[

1/6 (17%)

Txfr: 1/6 (17%), Effc: 1/6 (17%)
Thpt: ©.04/0.22 (23), Latn: 3.00 (3)

"Sent: 1/54 {2%}.
Thpt: 0.58/3.80 (2), Latn: 2.08 (2)

(n ayto

Q.recy l[ackl

"] (8]
8] ]
] 8]
& [
8] (&

“Rovd: 2/54 (4%), Effc: 2/6 (33%)
Thpt: 8.09,/08.27 (22), Latn: 23.08 (23)

0.send [ack] (6)

Effc: 1/6 (17

i



Activities
e

g SlidingWindow3

C B8 & localhost:2000/src/SlidingWindows3.elm

P.send [def]l (31)
5 6 7

19 1112|313 [14 |15 16 |17 |18

Process:

May4 21:29 e

Process:

Channel: Q.recy l[ackl

23] 4]

78] 09 1213
@] 11| 12

L

10111121 6 [ 8 | ©

10 | 20| 21 |22 [ 23 [ 24 | 25 | 26 | 27 oo |o|6|6|06|0]|06]a . 0 0|0 |
'-! ':_"__. 27 _-: 1 3 1_ % 3 35 36 |'-_': : ;::. -‘-': !_-_: e 'l-i ( )} | :':-‘- (8] : & :_"i a1 l'l |_'-'
7| 3839404142 14 | 45 e |e|[o|e|[eo|[o|eo]e]e olefo|o]e

47 T 48 | 4 56 51 C c c4 Q A ol 0 0 0 ) P o n | o I ~ - P o n 0

Sent: 12/54 (22%), Effc: 12/31 (39%)
Thpt: ©.11/6.29 (167), Latn: 11.58 (139)

Process:

~ Txfr: 12/12 (100%), Effc:

Revd: 12/54 (22%), Effc: 12/31 (39%)
Thpt: ©.16/0.26 (118), Latn: 16.60 (166)

12/31 (39%)
Thpt: ©.18/0.26 (118), Latn: 23.17 (278)

Channel: Q@ -= P (18) Process: Q.send [ack] (31)

P.recv [def]

. II

1] -2 -2 -3

-3]-4]-5]-6]-7]-8]-9 -1

160 © 0 6| @8 ;.:.I ' 0 | ;:J (6]
8] | (5] B (5] | i) 8] ;:_1 |
U | U l B | B ) ;Z] J
8] | (5] B (5] | i) 8] ;:_1 |
0] |G I 1G] ) 4] |1 &)

Revd: 6/54 (11%), Effc: 6/18 (33%)
Thpt: ©.85/0.15 (120), Latn: 17.00 (284)

7]

.10l 06 | 0|0 |0 |06]|6|6]o -16) -17] -12] -13] -14] -15[ -16] -17] -1
= 2 y | @ 8 0 B 19| -20 _2;. 52l 23 241 35| 28] 3
¢ 0 0] ;ﬂ B ﬂ B -28| -2 ) 'E{ 31 2| j} 3 ;5 3
B 0 B ;;_1 B r_:_; 0 37 .| 4 L A ; 43 _ |
o1 0le 0 8| e 46| -47| -48| -49| -50| -51] -52| -53] -5

Sent: 10/54 (19%), Effc: 18/31 (32%)
Thpt: ©.09/6.26 (117), Latn: 12.10 (121)

Txfr: 6/18 (60%), Effc: 6/31 (19%)
Thpt: ©.85/8.15 (128), Latn: 8.67 (52)

100 4uvnsS ‘n auto

Next_ Next 20 Next 1080

Controller (124)
Some packets not yet recieved.

Txfr: 6/12 (50%), Effc: 6/31 (19%)
Thpt: 0.86/0.17 (187), Latn: 55.33 (332)

A)-51-6)-7]-81-9

o

i



Activities

X =k

< Cc 8|8 @

Process: P.send [def]l (56)
2 3 ] 5 F 7 8 9

11]12]13]1af15] 36|17 ] 18
|19 |28 [ 21 [227[23 |24 ] 2526 27|

§|]29]13031|32]33|34|35|36
3738|3940 [41]|42]43]44]45
_:T _‘C: _‘|_L_' :\’:'-i (= 'i { =Sy B3 ':1._"

Sent: 21/54 (39%), Effc: 21/56 (38%)
Thpt: 6.10/6.26 (215), Latn: 13.29 (279)

May4 21:30 e

localhost:8000/src/slidingwindow3.elm

Channel: P -= Q (56}

Process: Q.recv [ack]

3Jafse]7]s8]o 12345 6f70158]2¢
16{11]12]13]14]15]16] 17 | 18] 10J11f12] 0 [ @ [15 1617 ] 18

19 [20] 21

] 8 (8] -]

!_-:: .': | [ -;. i !__: 8] (=) 8] { bl
0] J ) ) B (6] )

8] B 0 B B 0] 8] 8] B
Txfr: 18/21 (86%), Effc: 18/56 (32%)
Thpt: 0.69/0.27 (210}, Latn: 25.11 (452}

Channel: Q@ -= P (43)

Process: P.recv [def]

“Tuli=2ili =gzl |-; I-u I-? I—B I-Tl

-1 -1 -12f 6 | @ | @ | @ | @ | @

0| © @ |l B]6O]B] 0| '1 | ©
g ] © ﬂ | © ; Ei | ﬁ l_ H? | ;ﬁ | ©
o|o|lo[e|oe|le|le|e]e
& (6] f (5] .E; ﬁ T o ;3 &

Rovd: 12/54 (22%), Effc: 12743 (28%)
Thpt: 0.86/0.21 (288), Latn: 12.95 (272)

[-1]-21-3]-4] 5]-6]-7]-8]-9
-10] -11§ -12} @ |6 |e@|e|[6]6

B 18] [ 6] () 8] 3] ¥ &
(0 ¢ o B B 4] ¢ (0] tl
B 18] [ 6] () 8] 3] ¥ &

I IO e | 0B o B 0 t
" Txfr: 12712 (180%), Effc: 12/56 (21%)
Thpt: 0.86/0.21 (208), Latn: 21.50 (258)

Next_ Next 20 Next 1080

Controller (224)
Some packets not yet recieved.

Txfr: 12/21 (57%), Effc: 12/56 (21%)

O

=] [
=

=

B 8] [¢] £ 8] ] 0] @ 8]
8] 8] 8] f A 8] A 8] 8]

Rovd: 18/54 (33%), Effc: 18/56 (32%)
Thpt: 0.09/0.27 (218), Latn: 32.33 (388)

Process: Q.send [ack] (56)

2] -3]-a]-5[-6]-7

-18 -111 -12 -13| -14] -15| -16] -17] -1

-19] -20| -21] -22| -23| -24| -25| - 26| -27
28 -29| -30| -31| -32| -33| -34| -35| -36
37 6| -41 -42| -43| -44| -45
16| -47| -48| -49| -50] -51| -52| -53| -5

Sent: 12/54 (22%), Effc: 12/56 (21%)
Thpt: ©.08/0.36 (157), Latn: 16.75 (201)

Thpt: 0.86/0.20 (215), Latn: 78.83 (946)

i

e .
212 quwindow



Activities

Opera ~

B2 slidingWindow3

C 88

=

X =k

localhost:g000/src/sli

Process:
1J2]3Ja]5]¢e
101112231415
1920212212324
28 29| 30 [31]32] 33
37 | 38 | 39 | 40 [ 41 | 42
46 | 47 | 48 | 49 | 50 | 51
Sent: 54/54 (100%), Effc:

P.send [def]l (294)

16 | 17 | 18
25 [ 26 | 27
34135 36
13 [ 44 [ 45
52 | 53 54

4&29 (18%)

May4 21:30 e

dingWindow3.elm

B9 >0 =

Channel: P -> Q (278) Process: Q.recv [ackl
1J2]3]J4a]s5]e]7]s8]2o 123745678 ]2¢
1011121314 f15]16]17] 18] 101112131415 16)17]18

[19]20f21]22]23]24]25]26]27 19J2021]22]23]24)25])26]27
28 12930 |31]32]33]34]35]36 282030 ]31]32]33]34]35]36
37|38 39|40 )41]42]43]44]45 371383940 ]41]42]43]44]45

|46 ] 47] 48 |49 50 | 51 ] 52 |53 ] 54 46 | 47 ] 48] 49|50 | 51]52]53]54
Txfr 54/54 (180%), Effc: 54/294 (18%) Rcvd: 54/54 (180%), Effc: 54/270 (20%)

Controller (1177

Txfr: 54/54 (100%),
Thpt: 0.65/0.23 (1095),

Effc: 54/294 (18%)
Latn: 114.22 (6168)

Thpt: ©.05/0.27 (1095), Latn: 23.17 (1251) Thpt: ©.85/8.24 (1118), Latn: 23.04 (1244) Thpt: 0.85/0.24 (1118), Latn: 27.37 (1478)
Process: P.recv [def] Channel: § -> P (251) Process: 0O.send [ack] (294)

1)-2]-31-a]-5]-6]-7]-8 1] -20-3|-4|-5]1-6]-7]-8]-9]| -1)-2]1-3]-4]-501-6]-7]-8]-9
10 -1 -12] -13] -14 -15 -16] -17] -1 -1608 -11§ -12] -13] -14} -15 -16{ -17] -18 -168 -114 -124 -13] -143 -15} -164 -17) - 18
lgl- 21 -22] -23] -24] -25] -26] - 27 -194 -26] -214 -22] -23 -24|-:5|-26 - 27 108 -268 -218 -22] -23 -241 -25] -26] -27
2¢] -36f -31] -32] -3 -34] -35] -3¢ -28 -29] -30] -31] -32[ -33] -34] -35] -3 28 -29] -36f -31] -32] -33] -34] -35| -36
-37) -3 -39) -aef -41f -42] -43] -44] -45 -37( -3 -39 -4el -41] -42] -43] -44] -45 -37] -38] -39 -46] -41] -42] -43] -44] -45
-46] -47] -4§] -49 -5¢f -51] -52 -53] -54 -46, -47] -48 -49] -5¢] -51] -52] -53] -54 -46 -47 -48 -49 -50 -51[-57 -53| -54
Rovd: 5&554 {188%), Effc: 54/251 (22%) Txfr: 54754 (180%), Effc: 54/294 (18%) Sent: 54/54 (108%), Effc: 547294 (18%)

Thpt: ©.85/0.21 (1176), Latn: 36.59 (1976) Thpt: ©.65/08.21 (1176), Latn: 13.85 (748) Thpt: ©8.85/0.25 (1157), Latn: 35.06 (1893)

“tyanslgr CompleRs
Next Next 20 Next 100

i




L A DI 1B ¢

Activities Opera ~ May4 21:31 @
B2 slidingWindows3 % B Q =
C B8 & localhost:2000/src/SlidingWindows3.elm 0 8 PO = =
= k8 Sy w— Lo+
Process: P.send [def] (289) Channel: P -= Q (270} Process: Q.recv [ackl]
1 2 3 4 5 b 7 8 g 1 2 3 4 5 B 7 8 9 1 2 3 4 5 B 7 8 g
10 1112113141516 | 17 | 18 10 111y 12|13 1415116 |17] 18 1011121314115 16] 17 |18
19 1201211222324 ]) 25|26 )27 19120 211222312425 ]| 26|27 19120212223 ]24])25]26])27
28 29130 [31)32]33]34]35]36 28 [29]30]31]32]33]34]35] 36 2820130 ]31]32]33[34]35]36
37 138139140141 )42 )43 )44 |45 37 138130140 414243 )44]45 37 1383914014142 ]43]44 )45
46 1 47 | 48 | 49§ 50 | 51 | 52 | 53 | 54 46 1 47 | 48 | 49150 | 5152 |53 54 46 | 47 14814915051 52]53]54
Sent: 54/54 (100%), Effc: 54.-;389 (14%) Txfr: 54/54 (180%), Effc: 54/389 (14%) Rcvd: 54/54 (100%), Effc: 54/270 (20%)
Thpt: 8.04/8.38 {131;]?3 Latn: 25.83 (1395) Thpt: 8.84/0.19 {l3BﬁJ Latn: 76.48 (4130) Thpt: ©.84/8.19 (1386), Latn: 29.96 (1618)
Process: P recv [def] Channel: Q0 -= P (262) Process: Q.send [ack] (369)
A -2] 3]-a[5]-6[-7[-8]-9 a2 3]-af5[-6]-7]-8]-5 -1f-2]-3]-4]-5]-6]-7]-8]-9
100 -11§ -1 -13) -144 -1 -16] -17] -18 -10f -118 -12| -13 -14 -1 -16} -17] - 14 -168 -118 -12¢ -13] -14 -150 -16} -17) -18
19 -2¢] -21) -2 -23] -24 -25] -2 -27 19 -2¢f -23] -22] -23] -24] -25] -2¢] -27 -19) -20] -21 -22] - 23 -24] -25] -26) -27
29 - -360 -31) -32] -33] -34) -35 -36 -281 -29 ,d| 31} -32] -333 -34 -35] - 36 -281 -29] -36) -31] -321 -33% -343 -35] -36
-371 -38 -39 -4 -41) -4 -43] -44 -45 371 -38 -39 -408 -41] -4 -43] -44 -45 -370 -381 -39) -40] -41] -42] -43) -44] -45
-46] -47] -48] -49 -56] -51) -52] -53] -54 -46] -47] -48] -49 -56] -51] -52] -53] -54 | -46 -47 -48 -49 -50 -51 -52 -53 -54
Rcvd: 54/54 (1008%), Effc: 54/262 (21%) Txfr: 54754 (1080%), Effc: 54/369 (15%) Sent: 54/54 (180%), Effc: 54/369 (15%)
Thpt: ©.83/0.17 (1556), Latn: 31.84 (1676) Thpt: 0.03/0.17 (1556}, Latn: 76.48 (4130) Thpt: 0.04/0.25 (1481), Latn: 33.06 (1785)

Aop 213 padkets “yansigr ompledes

|Next | [Next 20| [Next 100 |

Controller (1557)

Txfr: 54/54 (100%), Effc: 54/389 (14%)
Thpt: 0.84/0.20 (1307), Latn: 211.89 (11442) -




Activities
e

g SlidingWindow3
< C B8 e
P.send [def]

Process: (758)

< 1]2]3Ja]Js5]6]7]8]29
| 10|11[12|13[14|15] 16|17 18
10 |20 | 21 [ 22 | 23 | 24 | 25 | 26 | 27
8]|29|30)|31|32|33(34]35| 3

i 18 J F 4 47 13 14 15

6|47 | 48|49 |56 | 51|52 53] 54
Sent: 9/54 (17%), Effc: 9/750 (1%)
Thpt: ©.26/21.43 (35), Latn: 3.89 (35)

May4 21:33 e

localhost:8000/src/slidingwindow3.elm

\ossi crannel

Channel: P -= Q (45)

B9 >0 =

Yw=5

Process: Q.recv [ack]

1 o] > 1 £ E =5
| S I . I = I o I \ I el I / I o

51 3 0 0 ) -'

") ] | 1=} |G .

o &) ) | B B 8]
¥ 3 ) (8] ‘-, (8] |
2] ) 8 8 8] )
8 &} 8 0 B a 0 a e
!3! i':;- A (A al 8] A |

Txfr: 9/9 (180%), Effc: 9/758 (1%)
Thpt: 0.88/0.41 (118}, Latn: 75.80 (675)

Process: P.recv [def]

Channel: Q@ -> P (48)

(. | | | ) 4] %] |
( ) ( ) ) ﬂ A )
. | . ] ) 1 (8] |
o|o|lo[e|oe|le|le|e]e
5 i g a =i i | A =2 I i g .:l‘: ] -, I] o

Revd: 8/54 (15%), Effc: 8/48 (20%)
Thpt: ©.04/0.19 (288), Latn: 23.11 (208)

4] 5] 6] 7] 3
ﬁ . -ﬂ... ﬁ . 6] 1 .}. h 8] ﬂ 0]
“Txfr: 8/9 (89%), Effc: 8/730 (1%)
Thpt: ©.84/0.19 (208), Latn: 47.50 (380)

AropSs /2 packets

IEN N A R R
: : ) A

oloeleloloelolosloeloe
Rovd: 9/54 (17%), Effc: 9/45 (20%)
Thpt: ©.08/0.41 (118), Latn: 12.22 (110)

Process: Q.send [ack] (730)
1] -2f-3]-4[-5]-6[-7]-8[-9
.5; - 14 - 51 17

-16] -11} -12| -1 15| -16| -17| -18

19 21 -22| -23 25| -26| -27
28 gl -31] -32 3| -34| -35| -36
37 )| -41]| -42] -43| -44] -45
16| -47| -48| -49| -508| -51| -52| -53| -54

Sent: 9/54 (17%), Effc: 9/738 (1%)
Thpt: 8.05/4.22 (173), Latn: 19.22 (173)

“‘vansher Ve

Next | |Next 20| [Next 100 Py Q <9get Stuek

Controller (3000)
Some packets not yet recieved.

Txfr: 8/9 (89%), Effc: 8/750 (1%)

Thpt: 0.23/1.14 (35), Latn: 142.50 (1140)

i



May4 21:34 » v 4 i

Activities Opera ~
E2 slidingwindows3 X B Q =
< C B8 & localhost:2000/src/SlidingWindows3.elm 0 8 PO = =
channe =
u > Lossg - w=1
. Process: P.send [def] (47@) __Channel: P -> Q (278) Process: Q.recv [ackl]
1 2 3 4 5 6 7 8 g 1 2 3 4 5 & 7 8 g 1 2 3 4 5 6 7 8 9
10§ 1112113114 )15 16§ 17 | 18 1011121131415 16 §J 17| 18 e 1112113114315 16 ) 17|18
1912821122123 )24])25]) 26|27 191200 21122)123)24]25])26]27 1920121122123 )24)25] 26 )27
281291 30131)32133]134]35]36 286129130131 )32)133134]35]36 28129130 131)132]33])34)135]36
37 | 38| 39 ] 40 ] 4 42 | 43 | 44 | 45 37 13813940 |41 42 ) 43 )44 )45 3713839140141 142)143]44 )45
46 | 47 | 48 | 49 § 50 | 51 | 52 | 53 | 54 46 | 47 | 48 |49 150 |51 )52 ]53]54 46 1 47 148149150 ]51])52]53]54
Sent: 54/54 (100%), Effc: 54/470 (11%) Txfr: 54/54 (180%), Effc: 54/478 (11%) Rcvd: 54/54 (100%), Effc: 54/270 (20%)

Thpt: 8.03/8.28 {1699? Latn: 32.35 (1747) Thpt: 8.83/0.16 {173BJ Latn: 45.52 (2458) Thpt: 8.083/6.16 (1738), Latn: 34.11 (1842)

Process: P.recv [def] Channel: Q0 -= P (266) Process: Q.send [ack] (458)
1] -2] 3f-a]-s5[-6[-7[-8]-9 12 3f-a] s[-6]-7]-8] -9 -1f-2]-3]-4]-5]-6]-7]-8]-9
-10) -1 -12 -13§ -14] -1y -16} -17] -18§ -10] -11) -12] -13] -144 -15 -16] -17] -18§ -168 -118 -12¢ -13] -14 -150 -16} -17) -18
19 -2¢f -21] -22] -23] -24] -25] -2¢] - 27 of -2¢f -21 -2 -23] -24] -25] - 2¢] - 27 -19) -26f -210 -22] -23] -24] -25| -26] -27
-281 -29 -30] -31) -32] -33) -34§ -35] -36 -28] -29 -3¢4 -31) -32] -33) -34] -35] -36 -28] -29] -36] -31] -32§ -338 -34 -35) -36
-37] -3¢ -39 -4¢f -41] -42] -43] -44] -45 37| -39 -39 -a9] -41] -42] -43] -44} -45 -37] -38] -39 -40] -41) -42] -43] -44] -45
-46] -47] -ag] -49 -50] -51] -52] -53] -54 -46] -47] -48] -49 -56] -51] -52 -53f -54 -46 -47| -48 -49 -50 -51 -52 -53
Rcvd: 54754 (1008%), Effc: 54/266 (20%) Txfr: 54754 (1080%), Effc: 547458 (12%) Sent: 54/54 (188%), Effc: 54/458 (12%)
Thpt: ©.83/0.14 (1888), Latn: 37.33 (2016) Thpt: 0.03/0.14 (1888), Latn: 61.15 (3302) Thpt: 8.03/0.25 (1805), Latn: 35.72 (192%9)

dvops 2/3 Packets Suceessful

-fveir\gkf!r

|Next | |Next 20| |Next 100 |
Controller (1881)
Txfr: 54/54 (100%), Effc: 54/470 (11%)
Thpt: 0.03/0.16 (1699), Latn: 154.84 (8318) i



Activities *J visual Studio Code ~ May 4 21:34 ® L DI

r «] File Edit Selection View Go Run Terminal Help slidingWindow3.elm - software_foundations - Visual Studio Code - a x
g J ’ @ EXPLORER i slidingwindow3.elm * O
“~ OPEN EDITORS elm ¥ src > BB SlidingWindow3.elm > &3 init » & data
-. ,Q x @ Slidingwindow3.el... 3, M 1 reference fﬁ’-‘-":‘fzf“' ‘
“+ SOFTWARE_FOUNDATIONS 1 module S5lidingWindow3 exposing (main, init, update, view) e
S a0 2 :‘lepurt Browser ' . . -
g_s 3 import Html exposing (Html, Attribute, node, text, div, button, table, tr, td)
2 8 = 4 import Html.Attributes exposing (rel, href, style, class, title, disabled)
> elm-stuff 5 dimport Html.Events exposing (onClick)
N ﬁl"} M SEC . 6 import Array exposing (Array)
B Examplei.elm 7 import List exposing (length, map, filter, foldl, range)
o B Examplez.elm 8 import Round
E:l B Example3.elm 9 b
B MergeSorti.elm i{_j x < U&
EE MergeSort2.elm 12 . MAIN
£ Mergesort3.elm exposed | 3 references L
E MergeSortd.elm 13  main: Program () Model Msg
B Mergesorts.elm 14 main =
# slidingWindow.css 15 Browser.sandbox {init = init, update = update, view = view}
B slidingWindow1.elm 25
B slidingwindow?2.elm 2 i;
B slidingWindow3.elm 3.M 19 - - MODEL
{} elm.json local | 7 references
<» SlidingWindow1.html 20 type alias Model = {
¢ slidingWindow2.html 21 -- components
© cilcnore 22 p: Process Int, -- process P
23 g: Process Int, -- process §
e 24 pq: Channel Int, -- channel P->0
@ README.md 25 qp: Channel Int, -- channel Q->P
A termrabstract-ecs.pdf 26 -- pperation
¥ term-abstract.md 27 who: Array Int, -- whose turn

A term-abstract.odf 28 t: Int == turn




Activities *J visual Studio Code ~ May 4 21:35 ® o4 -

-
) [ Q EXPLORER i slidingwindow3.elm * O
v OPEN EDITORS elm 3 src > B Slidingwindow3.elm > & init > @ data
" 44
-. ,.Q x B8 §HdlngWindpﬁu3.eL.. M 18
“ SOFTWARE_FOUNDATIONS 19 - - MODEL
> coq local | 7 references
g’i ~ elm ® 20  type alias Model = {
> elm-stuff 21 -- components
ﬁp} R - 22 p: Process Int, -- process P
23 q: Process Int, -- process Q
i 24 pq: Channel Int, -- channel B-=0Q
E:? B Example2.elm 25 gp: Cthannel Int, -- channel Q-=P
8 Example3.elm 26 -- operation
B MergeSorti.elm 27 who: Array Int, -- whose turn
B MergeSortZ.elm 28 t: Int -- turn } JFU‘IY\ methaf.l'l‘m”
B MergeSort3.elm 29 5
30

B MergeSortd.elm

local | 15 references
B Mergesorts.elm |

31 type alias Process t = {

# slidingWindow.css 12 -~ components
B slidingWindow1.elm 33 send; Array t, -- packets to send } dﬁ"’q
B slidingwindow2.elm 2 34 recv: Array t, -- packets recieved
B slidingWindow3.elm 3.M 35 st: Array Int, -- packet send turn
{1 elmjson 36 rt: Array Int, -- packet received turn Q,\('*’Va “"60
o Slidinawindowt.hem 37 s: Array Int, -- packet sent?
dithedaiadilin 38 r: Array Int, -- packet recieved?
<» SlidingWindow?2.html 39 -- operation 0 i
© .gitignore 4p mode: String, -- acknowldgement process? —— ack ()0"‘ vecwyer
fl LICENSE 41 w: Int, -- window size (constant)
(i) README.md 42 t: Int -~ turn
J- termrabstract-ecs.pdf 43 }
¥ term-abstract.md =
local | 4 references
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[
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